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Assuming a negligible salvage value for all equipment at the end of the 5-year planning horizon, determine the break-even sales point.[image: ]
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Suppose Gizmo Manufacturing Company is considering making and selling a more
sophisticated and more expensive version of the product, instead of the product considered
in the previous example. Specifically, suppose the following data holds for Product 2:

Sales price $42/unit
Equipment cost $525,000
Incremental overhead cost $50,000/year

Sales and marketing cost 5250,000/year
Operating and maintenance cost $S45/operating hour
Production time/1,000 units 215 hours
Packaging and shipping cost $0.75/unit
Planning horizon 5 years

Minimum attractive rate of return

15 percent








